HGE- oy (Qung Sley)
Part-B (General Studies)

Qesns&eT 101~

e T =00 Quwrés wHLCLeTEeT : 150
esti : B _

.Ei 200 Total Marks : 150

101. Cancer of the epithe]
(A) Leukemia
(C) Carcinomg
(E) Answer not known .
aSellwed Qededla o],

QZWEGGS_ITUS]LL]W

(C) &mi&Cermon
(E) sl Qsfwefomema

102. Match the following :
' National Parks

1al cellg 18 called
(B) Sarcoma
(D). Lepoma

ererm GUwi.

DCETW & meuraushE
: (B) &ni&Camom

(D) uGumom

(a) Gir National Park 1 IS{g%zzihan
(b) Corbet National Park 2. .Jhglrkhand
() Rajkir National Park 3. Gujarat
(d) Ranthambore National Park 4. Uttarakhand
@ (b @© @

A) 3 4. d1- .9

(B) 4 3 2 1

©3 -4 3 L

D) 3 2 1 4

(E) Answer not known

- Qummsgs.

: GCasflwlr ymsT mfleid

(a) & CsAlwr yhisr L. @orgavsmer
(b) smiQur CafluLr yrism 2 guEan
©) @i CsAws yhs 3. &R

(@) GrpsouT Gl yhsr o B ppndL

@ (® ©© @@
12

A) 3 4

(B) 4 3 2 1
&3 4 2 1
(D) 3 2 1 4

(E) o9 Qpfweiidme
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103. Arrange e following events in the Chronological order:

i

Death of Pulithovar

bo

Death of Kuvili

-

3. Deatly of Kattabomman

4. Death of Maruthu Brothers

A 231 4 B) 1,2 3,4
€ 1,32 4 D) 3,1,4,2

(E)  Answer not known

&G QA&rRésiuc Gerar Bapaysamar sroeflameLihsss.
1. LN &Cseuf e @iy

2. @lﬁﬂsﬁluﬂlsésr @iy

3. sl uQumbwefer Qmuy

4

L®&ECangisaiar @nriy
A) 2,38,1,4 , ®B) 1,2,3,4
®&n 1,3 24 D) 3,1,4,2

(E) e9err OsfMlueldame

104. Who was the First Women Doctor in Tamilnadu?
(A) Moovalur Ramamirdham  (B) Muthulakshmi Reddy
(C) Dharmambal (D) Pandithar Ramabai
(E) Answer not known
SUIDBT g6 (Psed e wmssieur w7
(A) eLpeUEYITT O mLAlTE LD (B)/ W58 51 Al [y
(C) simombumer (D) u@‘mqgﬁ T

(E) @ani Qflweilrency

CCS4T/2022 28



{0

‘ Match the foll()wing:

—

(a
(L)
(©)

(d

A
B)
©)
D)
(E)

deraumeuareubenpls Quimmesg)s.

Mirst Five Ye,
Second Five y,,

rl‘llll‘li ]i‘l\:l‘ \T(\I‘l. l)l
“hllan

n

Play

1 P];nl

Fourth Five Year Play
r Play,

@)
1
4
3
1

(b)
2
1
1
3

(c)
3
2
2
4

(d)

B CI TR

Answer not known

(@) @so gpstar® Hin

&S

(b) @ram_rauz mpsnen Sl

(©) epampreug pbsmenE L

(d) prensreug LbsTETH HL LD
()

(A)

1

® 4

©)
D)

3
1

(b)
2

1
1
3

(©)

= DN b W

(d)

N = W

" (E) oflerr Qgflwaidme

&

liconomic stability

Growth with stability

9. Problems of refugees, food shortage

and inflation

Self-generating economy

Qummettsy Hlevewdsenann
He@SSEOWL|L 6T Falyl ueTTESs)

aa;g‘,].ad'r, 2 e LIDD&@GEeMD MHmID
LenTalés §&EsaeT

4. sw o (Hurssl QurmeTTHTTD

CCS4TI2022
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find the L.C.M of p and ¢ frop, th..

is X and ¢ = Xy

106. If H.C.F. of p and q 1

following

&) pq
B) qv
©) xy
(D) py
(E) Answer not known

p wpmib g-er BLEAU® CUTS m@'{r;_@ x wHgId g = xy erefléd, P LHWID q-an LB&%
Gung wLkies &Ggummcu,ﬁ)ﬂaﬂ@‘rp‘g SIS

(A) pq

B) ay

Ly xy

D) py
(E) e QsMweicoena

107. The length of a rectangle is (3x + 2) units and its breadth i
| (3x — 2) units. Find its area. (x = 20 units)

(A) 3596 sq. units

(B) 3956 sq. units

(C) 4256 sq. units

(D). 5356 sq. units

(E) Answer not known -

e Qeaiaasdlar ferd (3x +2) oioEsd wHmb oigear Ssab (3% — 2) S0Es

arafléd iger LrliLeT@as stars. (x = 20 e @ser)

by 3596 5o a6

(B) 3956 #.o@ser

(C) 4256 s.o@@GseT

(D) 5356 . &6

(E) oL Gzsflweildame

- CCS4T/2022 ' - | | ﬁ



1f 18, a, b. -3 are

. : . - , value of
08 N Arithmetje progress, then what is the val

(ﬂ + h)?
W B) 11
3 = _

(E) Answer not known

18,a. b, =3 @eau s QsQs_i euflansuier ocrerg el (a +b)-war wHILS
ST

@ 7 (B) 11

©r 15 D) 21

(E) eflen Qzflwueidane

109. A person saved money every year, hzﬂf as much as he could in the
previous year. If he had savéd totally 27,875 in 6 years then how much
did he save in the first year? |
(A) z 3,000 ‘ (B) 2 4,000
(C) % 4,500 (D) 2 5,000
(E) Answer not known
on pui @alannm PamhL SIBHG PHOsW gerh Gslss Ggrensulle
uraw Gellsdpri. 6 pan@seie s T 7,875-gé Callsdlont aafld wpsd

gan(h Geusliy ;
(A) 73,000 (B’)/?_ﬁl,OOO
(C) 74,500 | (D) 5,000

(E) eflen QgMuwaiidena

p o CCS4TY2022
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110, Under 0

son —

dutios of the father; what is the duty of the fathey ty

as found in the Kural.

L1108 a] ’ j . ayy ?

(A) " Avaiyil Munthi irukka Seyal -

(B) " Selvathil Munthirukka Seyal |
(€) Kudiperumaiyil Munthiyirukka Seyal
(D) Nermaiyil Munthi irukka Seyal

(E)  Answer not known

2b@s wapspyD> perl

gD Amse@peflar Ly sH@s WEQIESE QeLiyd HeTdl g ?
A smans wpddpsss Qsisd

(B) QswaiBer wrHipsss Qsiss

©) Eyulupewte widdEsss Qsuso
D) Coiewtie widnpsst Qeisd |
E) deL Osfudbah

111. The first sur\}eyor of the Archaeological Survey of Indié (ASI) was -
(A) Charles Mason (B) Alexander Burnes
(C) Alexander Cunningham" (D) Sir John Marshal
(E) Answer not known
@pdws Qsmodlud <iies gopar s Splieuner
(A) srieev Gosar (B) siQassmam_i uirera
QY sQwssranii sarafignry (D) it mrar wirraged
(E) afenL Asflweildeoe

CCSA4T/2022 32 | | p



112. Match the awardg With pa

cognition :

Award

Recognition
(a) Perumthalaivy,

1. Increase enrolment in school
Kamarajar award _

(b) Puthumai Paj; Award o

Award for top performers
(¢©) Kanavu Asiriyay Awarq 3

Improve socio economically

marginalised student

(d) Radhakrishnan Awayg 4. Service of the best teacher

@ O © @

(A) 3 1

4 9
(B) 2 3 1 4
©) 1 2 4 3
D) 3 4 2 1

(E) Answer not known

efl(mEISET WHmih DARESTIS® S QurbHESIs

RGN { S BISSTLD
(a) Qu@.@g@mmr‘f srogrem el 1. udralls Cersamsew s fss0 -
(b)  ugIELL LeTeR o 2. fApps Qeweun iy pserer RAIGES
© sarey ANwT a9ms 3. swps, Qurr@a‘rrrgmj fwns Gengmidw
LoremTauisEenem Gobu(H&g)se
(d) TreT & meemar 69 (5s 4. ANwu el &b eflem i &g e |
@ ® © @
(A) 4 3 1 2
By 2 3 1 47
%1 2 4 3
@ 3 4 2 1
(E)  aeni Qg Muwefildenen
B CCS4T/2029
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113. Choose the correct Pairs :
1. Ondiveeran Maruthu Brothers

2. Gopala Nayakar Dindigul League

3.  Kuyili _  Pulithevar
4. Muthu Vaduga Nathar — Kalaiyaarkovil Battle
(B) 1 and 2 are correct

(A) 1 and 3 are correct
(D) 2 and 4 are correct

(C) 2 and 3 are correct
(E) Answer not known

silwrer @eaearsmers Gsieay QFUs.

1. eangeiyer — @y sCeTsIiaeT

2. Gamure prusst — — Saubese ol LapDLIL]

3. @9 — LGB

4. Wps3UBHSHIST ~ greverwmt Gamelléd Gumi

(A) 1 wHmgnd 3eM B) 1 vomib 2 &rﬁ |
©) 2 wppd 3 & | DY/ 2 wpgio 4 57

(E) ofen Qsflweildrenew

114. How does Valluvar compare the wealth of a wise maﬁ?
A) Tank brimming with water (B) Ocean
(C) Raver : (D) Lake
(E) Answer not known |
QR(HeUEIEL LI Q&ceuld E@g;rrmg,glm@u ummu@\mmg e ' GTg(EGﬂrF@

U ESDTT? _
(Aa/ D6 (75t o _ B) sLa
C) <o | D) o
(E) ofeni QgAwaeildame
34 | p
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: NNy na from east to west 2 re
Three€ rivers in Peninsulay Indin that rum
1 A) Mahanadi, Godavari and Krishn#
B) Krishna, Narmada and Tapti
© Narmada, Tapti and Mahi
0 Mahi, Mahanadi and Godavari
(E) AnsTver not lmm'avn N | e B D eLp G I Sy, UFHT
suspu @bu psailo Apade Gnpg ELOS =P
A)  wsrpd. GCamgreudl wHpib &meipenr
(B) dmagenm, pioes wHHID su
('Q)/':r._r,frmmg,. sud wHMID Wre
D) wrabl, waTpH wHmib Casrgreuf
(E) e&feni Qaflweilcvency
116." Identify the correct pairing.
(A) Nucleoside — Nitrogen base + phosphate
(B) Pyrimidines — Cytosine and sugar ‘
(C) Purines — Adenine and Guanine
(D) Nucleotide — Nucleoside + sugar
(E) Answer not known
sflwnen @enemtenwiss serH)I..
(A) BluyseCuinena® — bl gen &ryhb + LmeGu
By G dnser — et GLrflan wppIh oiésany
C) Gy hanmer — sigemenen whmIb @euTenen ey
D) BluyseaCuimen 6 - BuLsellCuinems @) + oirgmeany
) chien Qphluschicrene

B
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- 117. Match the following:

(a) Sivasubramanianar Kayathar Fort

(b) Kattabomman Sangagiri Fort

1
2

(¢) Marudhu Brothers 3. Nagalapuram
4

(d) Dheeran Chinnamalai Thirupathur Fort

@  ® (@© @
@3 1 4
B) 3 4 1
©3 1 2
@4 1 3
(E) Answer nbt known

N A~ DN DN

Qumrmsgis :
(a) HeusLigweniwem swssTn Camlan
(b) s LQumbwer srisdfl CamleL

(©) LD@QJ gCas g BI&ETLTLD

N

(d) . Sevr Acrampea Spuusgnt CamenL

(@ ® © @

s 1 ¢+ 2]
(B). 3 4 1 2
(C) 3 1 2 4
4 1 3 2

(E) oflen G]grﬂu.l@gléo_cmo
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118. Match the COIF'rect classification of land during the Gupta period.
(a) Kshetra

(b) Khila

(c) Aprakata

(d) Vasti

()
A) 1
B) 4
C) 2
D) 3

(b)

(c)

1.
2
3.
4
(d)

4
3
3
2

(E) Answer not known

Waste land
Cultivable land
Habitable land

Jungle land

GLST sTesder Horismarn &psaa eubnLer sflurs QurBSS Hs.

(a) Gesym
(b) Heor

() eurssT

(d) s

(a)
A) 1

@ 4

C) 2
(D) 3

(E) &9evr Qg Museildae

(b)
2

2
1

4

1

1.
2.
3.
4.

(d)

N W W e

g,rﬂ& Hleoid
CoueTTeaenidé (@ 2-&HbHS ;_F,]GDLD
GIGUUSHES 2-8hs Hleb

auar e

37
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119. How many triangles are there in the following figure :

- \_"--\,“
\\‘ -

A) 12 (B) 13

©) 14 D) 15
(E) Answer not kngwn -,

Shaer UDTULSHD erEsman pECaTaTIsHT 2 dTarar ?

& —
r L b’l \k—\
Aa) 12 ' (B) 13
© 14 | - ®)15
(E) oflen Qsfweldenc B7

120. Which number is in opposite plane of 3?

@A) 1 (B) 4
(C) 8 D) 5
(E) Answer not known

3-6@ erdlynan gaTSHD 2 GTer e ey 2

P

() 7 (Bﬁ4
@ 6 D) 5
()  ahlenr Qplueiliena

CCS4T/2022 48
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121 How many times can you subtract 10 from 1007

o

A 1
(€) 10

(E) Answer not known

(B) 100
D) 9

(A) 1 - (B) 100
@ 10 D) 9

(E) een Qsfwelerenay

th |
Mukesh can do = of an work in one day. In how many days can he

complete the same work? °

. D |
A) ‘2% days . (B) 35 days
1 N ol
(C) 45 days (D) 5'5 days
C \/ - i
(E) Answer not known ‘ . Y /;9,?
WCaes @ Hrefd % L@ES Caumaemw Qewg epyluunt aafled erggemar BTL_saet 6
26Cauamaeni (P(HeLWTs Qewg (PigiumT? |
% S
(A) 2% BTL_GET (%E Db &eT
1 : (D) 5l TL_&@T
(C) 4-§‘r_r;m‘_a;dT g P

(E)  &flen @p,ﬂu_mfilé)smu

39
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123. Match the following:

(a)
(b)
(c)
(d)

(A)
(B)
(€)
(D)
(E)

&Qé;&eﬁzrmméua;wm PeDWNE QuT(BSEss.

(a)
(b)
(c)
(d)

The Consumer Protection Act
The Legal Metrology Act
The Essential Commodities Act

The prevention of Black

Marketing Act

@ "® @© @

4 3 2 1
1 2 3 4
3 4 1 2
4 1 3 2.
Answer not knqwn

B&TGeunt LTgSTILE & ib
UL Siamefl e FiL b

SiBE LT Aty QurpLser &b
Gereng ehensIL(hSGISD FHLLY

FL_L_LD

@ ® © @

Y 4 3 2 1

B) 1 2 3 4
C) 3 4 1 2
(D) 4 1 3 2
(E) eflen. Qsflweiidene

CCS4T/2022 10

1980
1955
2009
1986

L2 s

1980
1955

2009
1986



124. Which city is known ag . . i
() Hyderabad Electronic Capital of Ilndla ?
(C) Chennai (B) Bengaluru

(E) Answer not knowy (D) Delhi
el
@iﬁuﬁ ” L&m&ﬂmm SMOBETE’ eTem S PESILI(HID ST Grgﬂ?
( @ADGTTUTS B) Guts
@h®
oy e (D) QLéved
(E) e Qsfwueianme
125,

Correctly match the component and its use in a circuit

Component Use of the component
(a) Galvanometer

1. Used to fix the magnitude of the current
through a circuit
(b) Voltmeter

- Used to measure current
(¢) Ammeter
(d) Resistor

@ & ©© @@
‘@ 4 3 2 -

Used to measure potential difference

Used to detect the current and its directions

1
(B) 2 3 1 4.
C) 4 2 .8 .\
D) 2 3 4 "\

(E) Answer not known

@ WenanBleudrar Wlamemnsener SiGer UUJG&TUWL@L,GM sflurs AuUT(Hsgs.
W6 gam

Wlerga e LiwieTLm()

BeradMed  Lmuyb uS]sm(Eeurrn'_L_gﬁe'wf S|ETENEL

a 4 G LS ST 1.
(@) sr@auGear ke Hlifewrwid Qsww vweruREpg

(b) Geumeor_ BLLr 2.
(€) oS 3.
(d) Bargewrss 4.

@ ® © O

BeCarm_Lseng ieredlL
WBenamwpss Ceumuim en emedl

BenGamm_Lib wHmid g6 Hasamwus sam_fw

@) 4 3 !
®) 2 3 1 4

4 2 3 1
D) 2 3 4 1

(E) oferr Qpweiioeme
41
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126. What are the ornaments of a nation according to the sequence
Valluvar?

(1)  Wealth
(2) Joy

(3) Defence
(4) Health
(5) Yield

A @), @), 6), ), 3)
B) 1), @), 3), @), )
©) @, 3), (), @), 1)
D) 1), @), 3), (), (2)
(E) Answer not known |
BTy HE Seflsoamaraupap aueT@real abs euflesuien spsidrarTi?
(1) Qeeeud

(2) @eud

(3) gu

(4) Yexflullemeno

(5) ellenaray

(A) (4), (1), (5), (2), (3)
@ (1), (2), (3), (4), (5)
() (4), (3), (5), (2), (1)
(M) (1), (4), (3), (5), (2)

(1) ehlon . Opfluahldenc

CCSAT/2022 42 ;



9. Choose the right matc], -

- 1. Taxes levied

—ed and collecteq by union ~ Art 269
but Assigned to the state
Duties 1

l‘:\:}

evied by the union but collected — Art 268
and Appropriated by the state

(L)

Tax levied and collected by the union
but which may be distributed between
union territory and states

(A) 1only

— Art 267

(B) 2and 3 only
(C) 1and 2 only
(D) 1and 3 only

(E) Answer not known

silwurer Qenamenwd CaibOsH :
1. wsHu sgeme aﬁ]ﬁésasuuli@, UG SaLILLH
LIAOESEDES RHIESSE gl QIETEISEH - aurs8 269
mgﬁm <irend Es0uL [, e wrfleo oirs - awrsg 268
u@GlLg wHmID LweTL(HSS0g _
&AL @yyend elfssrul (), auGdsslul®
wrflohser bHmID wellwer WrGssmisEnsE
véipselsasamiqw aflaer

(A) 1 wc@Eon

BT 2 wppd 3 01

C) 1 wHpd 2 LDl"_®U'3

- aurbs 267

M) 1 wpgyw 3 wCED
(E)  eflenL GpMweiaama
13
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128.

€CS4

Find the odd one out.
(A) Illamchetchenni
(C) Perum Cheral Irumporai

(E) Answer not known

(B) Kochchenganan
(D) Perunarkilli

QurmbsTsmss s
(A) QeresCar_Qeenafl (B) GsnsQemiseamrmest
(©)  QuwerGere @ mwauren (DY Qumphéeraf

(E)  efen Qsfuafdrea

. Which of the following statements are true about the post sangam age?

(1) Pathinen keel kanakku texts, include eighteen texts which most]
deal with ethics and morel codes.

(11) The most important of these Thirukkural and Naladiyar.

(111) Silappathikaram and Manimekalai are. the two texts deals witl
Cultural and Religious history.

(A) (@) only True - ¢ (B) (1) only True

(C) (@), @) only True . - (D) (@), (111) only True
(E) Answer not known :

ELpseiL TSR RIsNd §h& wmelw sresdHer sflwmer Fadml erg)?

(1) udQar’ B mrvsemer 2 drer_ddlw LglCenanépssans mraoser Gu(mLUTL
@Wss Cpdlpepsamaerts LipM FmEDG|. _ :

(11) eupmeT $(Hé&EGDEHLD, [BITGD g UL T(MRLD @g,eﬁrcmmmnsmg,rr@m.
(i11) Aevdugdleryepb,  weallCusmewb uamur®  wHmid FOWSDS upd

G 18] 681D GO
(A) (1) w @b & B) (i) vrEn &f
&y (i), (i1) wi (b s (D) ‘(i), (iii) @ s

(E) eleni ClgMlusehlcbana

T/2022 44 | [3
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130.

131.

Al..range t-ht‘. fO] 10W

. ing News w'y als of Thanthai Periyar in
chronological orde, wspaper's and Journals of é

N

1. Paguththariy,
2. Viduthalai
3.  Kudiarasu

4. Puratela
A 4.2,3,1
9

3 T (B) 3,4,1,2
(L) 3,2,4,1 (D) 93 14
(E) Answer not knOWn
SpésQTLaubyen ki _ o _ , "
TR (WPDULIG mfﬂsgfuf@ﬁ@@;”ﬂwmﬂm - Qewfssratsmenub,  @sLpaEman
L uessley
2. dlphseow
3. ©GYwrs
4. ygud
@ 2231 ®) 3,4,1,2
(C) 3: 2! 4! 1 @j 2’ 3’ 1’ 4

(E) efen Gzfwefcrana

Assertion (A) : The Indian heritage advocates hospitality, charity,
friendship, love, respect for parents and elders and
tolerance. . |

Reason (R) : All these help the people to live in unity.

(A) Both (A) and (R) are true (R) is the correct explanation of (A)

(B) Both (A) and (R) are true (R) is not the correct explanation of (A)
(C) (A) is true but (R) is false

D) (A) is false but (R) 1s true
(E) Answer not known
sadm) @pHw  umpbuflub  ererug) lpHCsTDLLD, Fes, BLL, 6y,

QuHCorequyb whpd Guiveaismenyb wHssH wHmL FEULS
BEeIDEW eU6dILDISSIEUSTELD.

smyeand ©  Gupsadu LdTLser Cauppi@namar PBS ESHET @DHILILET ey
2 gadlennen.

(Aj/w,{'gg@ srpanapd &, sryanbd sppissrean sluren elarésid

(B) Go.fHHILD MIyesT(LpLD g, srpend sapmésrear sflwrer elatéshd e

(C)  sagpyy &, sryemd sl

(D) sapm poug, smyemid i

(E) eflen Guluadama

9 CCS4T/2022
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132. The birth rate is estimated in terms of .
() Number of births per one hundred population in a given year
(i) Number of births per one lakh population in a given year
(111) Number of births per one thousand population in ten years

(iv) Number of births per one thousand population in a given year

(A) Q) only . (B) (i1) only

(C) (@11) only (D) (@v) only

(E) Answer not known '

Gpuy eNdlgb @sem g iueufe m(@c;]atﬁ]L_uu(Baﬁ]rng..

Q) @B EOUEALL <& BN DESEET G]g,rrema;u&]cb Yphseuisaier ererenfilsma
1) @ GHUGCL <pargd @ @Gm.& waseT Ggranauid EAppseuisai

cTeRTEmi &N s
(111) uss e paaile uird wéser Asranswie Gppseuisafler eramamiéms
(1v) @ &MU L =y 6g e egbu‘jhjr_b &sear Ogrensude ;S],m‘r_'r;g,mfra;aﬂm TG
A) (@) woEo  (B) (1) wL @b
(C) (iii) v @ N\ B (iv) wr @
(E) o&9en Qasfwalidena |

133. If the difference between C.I. and S.I. on some principal at 15% p.a. for
3 yearsis ¥ 1,134. Then the principal is
(A) % 16,000 © (B) % 15,000
(C) % 14,000 (D) % 20,000
(E) Answer not known |
15% e el iguied 3 YaHEEEEGS HadEh sl { G)JL',Lq_$@')L'D.. ,&)@ﬂ
el igd@b G)e-Guiuerer efgHwmsnd T 1,134 erafldr iger <is

(A) % 16,000 By % 15,000

(C) z 14,000 (D) % 20,000

(E)  aflent Glpiluehlieew

CCS4T/2022 46 x P



134

133.

4P+SrIB#A39 7. Z2%6d*Q@ 1
If the first half of the
element will be foupte
(;\) >
) Z

series is written in reverse order, then which
enth from the right end?

(B) A

(D) +
(E) Answer not known

4P+SL‘9B#A3770>Z%6d*Q@1
QerhésuuLL st fier wse urfew WaGamss afl@sdo aupdamd e
Qe UDSILESSE by 14-qugns Si@wwb 2 prifemears srears.

A > (B) A

C) Z @ﬂ.

(E) ofer Qsfwecrene

10 farmers will plough the land in 21 days. In how many days
14 farmers will plough the same land?

(A) 14 days
(B) 15 days
(C) 16 days
(D) 17 days

(E) Answermnot known

10 efeusmlsar 21 priseld @ Hosoms 2 (g pysfdapeant eaafled <iCs
flosems 14 eleugriser apgemen prisalld o (pg wpyuuf?

(A) 14 prcser

(B)/ 15 prger

C) 16 pm_sar

D) 17 g sar

(E) chlemi_ G,Ig,lﬂu.m‘ilcju:,mc,n

& CCS4T/2022
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136. Which among the following is/are correct about the Judiciary in Indig9
() India has borrowed the concept of Judicial Review from the USA
(i)  Both the federal and State laws can be subjected to Judicial Revigy,
by the Supreme Court.

(1) The Constitution Article 13B saves the Acts from Judicia.l Review,

A) () and (i) only

(B) () and (111) only
(C) (i) and (iii) only
(D) @), (i) and (iii)

(E) Answer not known

@pdureller BHuyarymiey UHHW EpsTaTUaIbDIET 6rg/ereras SfTaaa ?

M) @pdwr BHuyamymiey TG &(HSS|(HENGU @{erﬂéﬁmn@ﬂaﬂ@ﬁ,@ Qupmg

1) geadu  wHmb wrble  slLmsdT Qe 2df  SHwetnsda
bEluyenrmieys@r Lu@D - ' '

(111) ewrdueemooy s n9fe 13B ﬁﬁg@]@m LY e Dsluams sH&EDg

(ﬂd (1) womb (1) L EL

(B) (1) womib (1i1) wir v

(C) (1) wpmb (i11) wL (b

D) @), (1) wpmw (i)

(E) eflen QsMuwedcvene

137. Which one of the following Artlcles empower the Supreme Court and
High Courts to 1ssue writs?
(A) Article 23 and Article 226 (B) Article 32 and Article 228

(C) Article 226 and Article 36 (D) Article 32 and Article 226
(E) Answer not known

Gemeumn sl fleseflid apss gL Qfey

2 wirbdwenmsH G
(Luunc/;mw et 1911966 oflsnyb weflésdenng 7 BHwanpsd
(A) s cnlMey 23 whpib 226 (B) s u9fley 32 wppw 228

(C) s nfla) 226 wpmnb 36 M,:L'_l__l_fjlmlﬂg1,[ 32 wpmid 226

(E) éhlent_ Gy ihwaildena

COS4T/2022 18 i i



19;8 Pick out the COrrect s'tatements :

t
\ has the larges
Statement 1 The delta of the Ganga Brahmaputra

tidal forest.

ove forest.
Statement 2 Tidal forest are also known as mangr

(A) Both statementg aye true
(B) Both statements gre false
(C) Statement 1 is true 2 is false
D) Statement_ 1 is false 2 is true

(E) Answer not known

sflurner anrsdlusemss CsipOs@ssey :

. I] . _ [ L.”_I

Blasamhsdr 2 ererar. | |
sAub 2 :  S@eursds . sthsdr  “LmieCre” sn@ser  erary
. e &aLIL D Slemmar.
@& @ren(H cursSwnisEpl &
B) @rer(p cursHlwms@shd s
(C) arsdwo 1ef; 2s0um .
D) ansdwn 1 seup; 2 &

(E) deor Gsfueidme

CCS4T/2029
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. M i ’ a n
139. National Panchayat Raj Day 18 observed o

(A) 24" December

(B)  24™ August

(C) 24" April

(D) 24™ September
(E)  Answer not known

Codlw e & prer ———— 2} GLD-
U{ we&buir 24

(B) «sevc 24

©) qure 24

ﬂ( QeuLwurr 24

(E) e Qsfwefcrenaw

140. True righteous/virtuous life consists in the avoidance of four things,
what are they?
(A) Jealousy, Ambitiousness, Anger, Unwanted Abusive Words

(B) Aram, Porul, Inbam, Veedu

(C) Enjoy, Sound, Laugh, Peace

(D) Lust, Anger, Doubt and Action

(E) Answer not known

“Glupssn Buenng HDL” — eTeneu ?
/()ﬂ/,g,{(|9$ang)1, gjeur, Geugef, @eararméQamed
(B) .zimb, Gummer, @erub, i

(C)  whlipsb), sppiblhad, Hised, siemod
(1)) wmoib, Glesmell, 1owdaib, afenen

(Ii) chlasn Glahluiahldency

CCSA1/2022 60 ﬁ



41, Which of the following

B

Statements are true?

@ CDRI -

Central Drug Research Institute has developed an

indige 3 ‘ | |
indigenous RT - peR diagnostic kit “Om” for testing the Omicron
Variant of Corona Vipyg I

i) Om.ls the first kit made by any government institution for specific
testing of Omicron.

(i11) Olll. 15 the third to be made indigenously for specific testing of
Omicron (Corona Virus).

(A) (@) and (i) only

(B) (11) and (iii) only

(C) () and (iii) only

D) (), (1) and (iii)

(E) Answer not known

Spssnanib eumsdwbiseie GTGIDGUQU_IG.DGUWLDI &l 2

() wsdu wmps wrmLES Hpeuand CDRI GasrGrre aeuredler gLO&Tme
prpu el Gerdés 2 aprgGatu “Om” agub =ig-Gélapt semL_HlujLd
amedl 2 (Heunsslujereng). - :

(1) ebsyreier @M Cersmars@ hS @ T Ppeueangsme
> (HEUTESLILILLL (PSE. S(H6l “Om”

(ili) 2 empmiqGaCu SuTilEsILLL epamreug QsnCrmant eaeugad Gangaen
smed  “Om” _

(A) - (i) wpmw (1) LLBD

(B) (ii) wpmw (ii) LD

(C) () wpgb (ill) LCED

@7 ), (ii) wpgd (iii) S@assD>
(E) chlen_ @gMuwciicene

b1 CCS4T/2022
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142. Match the adulterants of the food :

(@) Hydrogen peroxide 1. Shiny appearance
(b)  Food colours 2. Milk

(©  Calcium Carbide 3. Fresh look

(d) Carnauba Wax 4. Ripen Bananas

@ ® © @

A 1 3 4 2
B) 2 3 4 1
©) 3 4 1 2
D) 4 1 2 3

(E) Answer .not known

EPEEEHTL sl UL 2 anGeun() Qanenr Qgiiis.

~(a) @ADL rmer Quirsemen® 1. Leruerliurer Gempm

(b) 2 away Apepriqser 2. ume
(©) srOAwn srremuE 3. usews CsmHpw
(d) sriCermumr Qs 4. mnmgpuﬁgpgsmg,u LW&s eweuliugn,

(@ ® © @

A 1 3 4 2
@ 2 3 4 1
(C) 3 4 1 2
@ o4 1 2 3]

(E) e&flen QsMNuwaelldvena

CCS4T/2022 | 52



143.

Read the following Passage and answer the item that follow. Your
answer to this item should be hased on the passage only.
| Passage

Swadeshi Steam Navigation Company marked a
specta.cular development iy, the history of the freedom movement. Eager
to revive th&‘-_n:-wa] tradition of the 'J‘ﬁmils to provide practical training
in ship building to the people and détermined to challenge the British
Monopoly of maritime traffic, V.0. Chidambaram announced his decision
in 1906 at Shiyali to create g Navigation Company.

Which one of the following is best implied in the passage?

(d) The steam Navigation Company earned a good income in those
days which marked an impressive development.

(B) The creation of Swadeshi Steam Navigation Company stopped the
British Monopoly of Maritime Trade. _

(C) V.O. Chidambaram was dependent on taking any decision with
regard to Navigation Company affairs. .

(D) The restoration of Tamils Knowledge in the Naval tradition was

the objective of the creation of Navigation Company.
(E) Answer not known |

The creation of the

Gemeu(md LSHews Ligsg Gemeumnd eflermeldDH e ué\maﬂa‘saaa.]m.- Qbs LGE&sTE
o migeT LSO LSS SiglumLude B HGL Q@és CadmRID.
o
5358 eved CreilCaagen Hpeuassen 2 (haurssd &oHET Quisssden curmhbled
QM DDUSLITET eueTTéEflows GNSSS!- sllprsafier slL® SO urrmburﬂuﬁ,epg,
BLOLE&ED 2 eusHd WwesERsEEGS slud sl fadd pem(pa@pu uuGHél
siefssad. sLe CuUIsGIsde Wflgey gsCurssdpg seured AHeudled
2 pdumsayd ... Agburd 1906Q0 eflurdllie e CrelCaagen Hmeuasoms
2 (HOUTE@GEUSHETET SETE (Plg e <Mledlgsmir.
YGereumeuareupdled 6rgl usduder Apuiurss GHLALLLESDE?
(A) evielb CrefiGsagen Hlyiauand SIpE .r_ﬁrr'-meﬂsb BHOKQ QUHLOTATEMS FLigWIF).
@5 @ miGessm gL cueTESlamwd GNSSI). :
(B) &Gs8 eviewd GrefGaager sbOualuien 2 (peunssd sLd auamilssdad Gfligey
gaGUTESS @@@ﬁmﬁ' _ o . - _
©) ae. Agbumb CpedGsagen Ppreuen dasmisdr bgm funs abs (pa@abd
aBrIu® LD HDEUTEHEETE FiHE BHST-
BT siiud sl O b fiugEe ?5L‘5]‘5?W5G'ﬂ6&f <siflevas BLOLEULE CreilGsagan
Spesenisanp o-maurbAupen GRIEaONGH.
(E)  sion Gplwshldend

b3 CCS4T/2022
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144. Assertion (A): Micro irrigation technology helps to have a higher yig]y

when compared to the traditional irrigation method.

Reason (R) : Micro irrigation required moderate water supply g

regular intervals, reduction of labour expenses, Increase

the usage of fertilizer and the yield.

(A) (A) is true but (R) is false

B (4) is false but (R) is true |

(C) Both (A) and (R) are true but (R) is the correct explanation of (A)

D) B.oth (A) and (R) are true but (R) is not the correct explanation
of (A)

(E) Answer not known

aapm (A) : - mi@westt unsan an@d}gf_ur_‘o, urgouflu Sirurser - gpepaaman

oL Liiselle Sfs waE HoLss afams Qeidps.

sryamd (R) : Bisanti ursar L sHd ereuar B Erer sre Qen Qeuafude
umbsstu®dng. uefllurl safler  Qewaeus GONGG, 2L
“uwerum Hgdner oidafiuGsE eeenésaayib 2iFlaNsHng.

(A) (A) &fl; e (R) seup

B) (A) seup: sama (R) e

© &) wopo ®) of; éme (R) g (s sfunr dorsan e
(D) (A) wppid (R) &f; wyenmed (R) erémusy (A)a;@ sAunar eflerssin oiche
(E) oo Gzflueidame

CCS4T/2022 of | B



145. 94 is divided into two parts in such a way that the fifth part of the first

z}nd the eighth part of the second are in the ratio 3 : 4. Then the first part
18

() 28 - ® 30

(C) 36 (D) 40

(E) Answer not known .

ghden @B UGH LHgL iy gm ugH da @n uGHurs GfssLULL
aan 9d-Qen cflflgn 3 : 4 aafller wigean psd LGS o

Jg &5 30 geg- 2

(C) 36 (D). 40 2
(E) ofer Qafweiidena g

146. A group of letters are given. A numerical code has been given to each
letter. These letters have to be unscrambled into a meaning word. Find
out the code for the word so formed from the following.

RMENBTUT
A A 2
{ -

3 4 5 6
j (&) 625314 | - (B) 462531
(C) 462315 (D) 542531

(E) Answer not known
Gr@g@;a;aﬂeﬁ QsmEULY el &G G\a_srr@ésas_uui:_(b\ o arang). eeuleun(h T(WPSSIEGD
sssaliCL eram GHSE eupmisLLL@EaE. @ECsTEIY  Twsgisma
QL DQUWITSS LIHOWELOSSTE G\un@@mm uTTEmss SHoL&Eb. ey,
Ldsras san@iigss uITS®SESTEN eram Ghpsmas srams. e

RMENIBU

A

1 2

3 4 5 6
< W
YRN8 _
(A) 625314 | 46253
(C) 462315 (D) 542531 -
N~
(E) GQQGE)L Qg Mweileena

B B 56 . CCEiTiz0s2
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147. Match the following :

(@) Sarkaria Commission

(b) Rajamannar Committee

(c) Anandpur Sahib
Resolution

(d) Bommai Judgement

@ ® © @

A 1 2 3 .4
B) 4 1 2 3
€) 2 1 3 4
D) 3 2 4 1

(E) Answer not known
Qummsas :

(a) erssTAwT <y eamwDd

b) @rrgudamt @

() <absLLT FTabll ﬁr‘rmrrembl

(d) Qumbenw Sitiy

@ ® © @

@1 2 3 4
@241 2 3
© 2 1 3 4
(D) 3 2 4 1

(E) eflen QgMwefdvena

CCS41/2022

S B

Tamilnadu Govt.
Akali Dal

Supreme Court

Union Government

BUIDRBTH SijeThsLD

. A&M60l. Sarid

2 §ghEeTmLD

- S BTETESD



j 48. Which one of the followin

1 g .1. t : 1 . . ?
(o) Hiran 18 the right bank tributary of Narmada River
(C) Banjar (B) Burhner
(E) Answer not, known (D) Tawa

GTGU (HEUTEUMMIGT € ekt
\eeu(H DOIAT ety B0 opher QUG ST HIENET NI DG
(A)  ablyen

© ueen ,Q]}gj/Llﬁmﬁ
(B) oL OsNueldaa (2 g

149. Match the place of €Xcavation with the district it is located :
Place of excavation

District
(a) Keezhadi 1.  Thoothukudi
(b) Korkai 2. Ariyalur
() Gangaikonda Cholapuram 3.  Thanjavur
(d) Kurumbanmedu 4.  Sivagangai

@ ® @ @
A) 4 3 2 1
B) 3 B 4
C) 4 1 2 3
O 1 4 3 2
(E) Answer not known

SspeuryriFs Q)L miseman SIB G LnnaJL;l_ggjx_ehT QuUIT(HSSI&.

SBPeUTTTLES QL hiseT LOTGUL L LD
@) Spg L abgsss
(b) QsmHevs 2. siflugn
(€) smams Qerem. Gempurd 3. sEpETay
(d) @@mwuaCLE 4.  Seashums

@ () ¢ (d)

(A) 4 3 2 1
(B) 3 2 1 4
7 4 1 2 3
M) 1 4 3 2
(E) aflenL @g,lﬂmaﬁlcbmsu
B 57
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~ 150. What are looked upon as the

@A)

(B)

(©)

D)

(E)

Love and Virtue

Humility and Pleasant Words
Knowledgé and Power

Family Life and Renounced Life

Answer not known

QHauBEGE Spps aflsoeaserns | @ rpUU®e
&N EEerpmit? |

(A)

SiSTLLD SIDEILD

LB‘mﬂGqu @enQameeid

(€)

(D)

iflayb SLHOWID

@eappb DD

(E) el GaMwalildena

CCOSETI2022 h8

“true jewels” for anyone by

GTGoT a.lsi'r@mr'r

Thiruvalluvay

GTeUHEnmé



o v -

,51. Find out the incorpeet pairs

i aharashtr; ‘ legi
@ M htra Bi-camral legislature

(i1) Telangana = Uni-camral legislature

(iif) Bihar =  Uni-camral legislature

(iv) Andhra Pradesh _ Bi-camral legislature
(A (), (1)) and (iii) are incorrect pairs

(B) () and (ii) are incorrect pairs

(C) () and (iii) are incorrect pairs

(D), . All are incorrect

(E) Answer not known

FUDTET QMM WIS SarL_Hls.

@) LDE"U”G&_@UFF ' —  mrenal FLLIDeTHd
(i) Qsgumsrerm — | @reme §.LaTpLb
(1) Semr _ —  @Uee FLIDETLD
(iv) <pdnpCsen | —  Freeu FLLDEDLD

®) (), i) wpp (i) seprer Gear
B) () wppud (i) ovprer @
1 (i) oo (i) paprer Qo
D) sieensgio goupran Gaa

(E)  eflen Qg Mweieena

B 69 ' - CCS4T/2022
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| i ] ] igsion :
_ 152. Match the fOHOWing countries with their Mars Missl

Country Mission
(@) USA 1. Mangalyan
(b) India 9. Psyche
(c) Japan 3. Zheng He
4. TEREX

(d) China

@ ® © @

A 1 4 3 2
B) 2 1 4 3
©2 4 3 1
(D) 4 QY 3

(E) Answer not known

ELD&eRTL g_r;rr@a;meﬁ é{g,s&r'mnﬁdu \flagein 2 L e CUMESI5-

BTG Blager

(a) w.erev.qr 1:. wisdwnen
(b) @bHwr 2. Psyche

-~ (¢) guumer 3. Zheng He
(d) &enr 4. TEREX

@ ® © @

@1 4 3 2
®2 1 4 3
©2 4 3 1
w4 1 2 3

(E) eflent @pflualldama '

CCS4T/2022 60



5 Which of the following statements about Bhagat Singh are true?

Y In 1930, Bhagat Singh attacked the Chittagong armouries

(i) In 1929, Bhagat Singh and B.K. Dutt threw a smoke bomb inside

the Central Legislat;y, Assembly Hall
(i) In 1925, Bhagat Singh formed Hindustan Republican Army

(A) (1) only

(B) * (1) and (iii) only

©) @) anci (i1) only

(D) (1) and (iii) only

(E) Answer-not known

Epseramid smpnisailer LssAm Qsr_urat sflurer sapeps sem_Hs :
(1) 1930-@e ussdim AL s @yiyst UL sseTEms STESanTi

(1) 1929-@é ussdm 9.0s. sz T @eanns wsHW L IGUIMe g
& eiflemmit '

(ili) 1925-24b e LssE @pgicvsran @_lq-wwu LeLew Hgedenmi
# (i) oo & 4 |

B) (i) whmd (iii) wrEw &f

C) () whpmbd (ii) wrEb &f

}ﬂf (ii) wpmo (iil) wrEb &

(E) o9er Qsflweddvane

a.. CCS4T/2022
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“. LU L A AN -
;{(W(-_!_l”l'lm(-.!l’ll} of Indl JEdp

154. Arrange the source of peventie of
2020-21 1 descending order
() GST
(1) Personal imcome tax
@) kxeise
(iv) Corporate tax
(v) Customs
(A @), (), (iii), (iv), v)
(B) (i), (v), @), (), (ii1)
©) @, @v), (), (iii), (V)
O @Gv), @, (i), @) ™)
(E) Answer not known |
(B MU pLpQIBISEDET @i

2020-21 yib TGOS @pelw oyélen @

cuflengudled afasliLhES -
@ GST

(i) s aipoer auf
(ill) Shreve .

(iv) Ageuar euf

(v) &ms& cuifl

@) @), @), G, (v), )
(B) (i), (v), @, (v), (iiD)
(), (@), @), (i), )
) Gv), @), @i, (), )

(E) el Gpfluaiaa

CCS4T/2022 b



155- The greatest 5 digits number, which, when divided by 3, 5, 8 and 12 have-
9 as a remainder is

(A)- 99972

(B) 99958

(©) 99960

D) 99962

(E) Answer not known

gn Wsl QUi b5 @wss carmar 3, 5, 8 Lo 12-0 wEsEDL GUTE.

HaLs@b B 2 erafld, Bar Quiw wHE Qess srartrrewrrrafrgj —  — &b.
A) 99972

99958
(C) 99960
D) 99962
(E) efen Qaflweiicoana

156. The ratio of 435: 25 1s same as
a4 2:1
(B 4:1
C 7:5
M) 7:10
(E) Answer not known

4o :. 9° GTETLISH (S FLOLOTEN N&lsIb.
4:1
© 17:5

M) 7:10
(E) efeL Qpfweildene

B 63 CCS4TI2022
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157. The 86" Constitutionnl Amendment Act, 2002 has introduced
fundamental duty under H1 A(K) 18
(A To provide free and compulsory educational opportunities to all v,
children until the v attain the age of fourteen.

(B) '] o value the rich heritage of our composite culture
() To defend the country and render national service when cal),,

upon to do g0
(M To protect the natural environment
() Answer not known
SB-ag  arfueenoy Hnsssa L 2002-@erig 51 AK)-g o
Wi UL Sl ayflapsiiuBdsriu(ererg) ?
M 14 audpe ol Ul S@aEs GRHMSsEHEGD GOas LHNIDL S,
seell aeflgasa
(B)  umrbufw seLy seTEFTIE®S WHSSHIL LTSISTSSED
(C) GCses ungistuldpens GeeauiuGbGurg Casuuailwrbm swrymudl(msse
(D) @Qupers sppEGR@Ol UTHESTSSE
(E) el Qsfweldoaa

158. How many pairs are correctly matched?
Party Symbol
1. All India Trinamool Congress — Two Flowers and Grass
2. Nationalist Congress Party —  Clock
3. Telangana Rashtra Samiti — . Car
4. Asom Gana Parishad —  Lock and Key
(A) 1 pair (B) 2 pairs
(C) 3 pairs (D) 4 pairs

(E) Answer not known
Ephaan _cipper apgmen Gaeanser sflwmsl QUTmSSsLUILIL (HeTeTer ?

&8 &levreid
1. dlo Gidw Silennipd smiidlyen - @@ ysser LHMIL Lhser
2. Cablweuns anisdlyen g8 ~  HIRSMLD
3. g gpisanann ynap flus sbld) — &0
4. iounb e uflaps L woHmibd gred
(A) 1 Bjaes -(’B) 2 @wmle};m
(C) 3 oo s (D) 4 @aavgen

(F) bl G hluahld)concy

CCS4T/2022 G4
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B

I

159.

160.

“India will be a land

) of many faiths equally honoured and respected, but
of one national out o

_ k™~ Who said this?

() Mahatma Gandh; (B) Jawaharlal Nehru

(©  Dr. B.R. Ambedkay (D) Sir Syed Ahmed Khan

(E) Answer not known

“Qpfwr LG B Gsmssmas sowrs  Gurhh  wHssLURL  QLWLTE
Qruutst(® @Gy Cadlws sanCanm L sess QenanyhEGL aans saflue

(A) D&TSLOT ‘5"&-’(@ Mam@_ﬂ)ﬁ@ﬂ@b ng@

(C) Dr. BR. @ubQuge
€ oL Asfudidme

(D) & ewswg SNSLGIHME

Which of the following statements are correct?

(1) Rajasthan plains is located to the west of Aravalli range

(i) Punjab-Haryana plains lies to the North-East of the Great Indian
Desert '

(1) Ganga plains extends from the Yamuna River in the west to
Mizoram in the east

(iv) Brahmaputra plains is located mainly in the state of Meghalaya

(A) (1), (1) and (1v) only (B) (i) and (i) only
(C) (ii) and (iii) only (D) (i1) and (iv) only
(E) Answer not known

EpsaarTicupmieT ereneu Fflumar umédwikisdT?

(1) @orgevsmer sw@euafl yraude eas0sT(HéE Copdd AmbBSIETaTS.

(i1) ¢ ugpemi-apMwmernm soQaefiser @pdu  ureeauasHar  LdPsCs

S pgleTaTen. .

(iii) smess swGeuell Cupdled wpamer DO (mHg Sipsdled WCsmyd eueany
ugedlujerersgy.

(ivy- Qgbwysd T soQeueflen QumbLES GusTowreie mwbgeTaTg).

B) G, Gii) wpp @) 060 BT ) opp (i) v

(C) (i) wigp (iii) G (D) (1) wpmin (1v) wC G

(K)  cheni QaMweidame

65 : CCS4T/2022
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161. is the thought in terms of social, educational apq

psychological well being among various communities.
(A)  Communal harmony

(B) National integration |

(C) Women empowerment

(D) Community health

(E) Answer not known

veCam supsTumsEEsHam_Cuwrear, sups, soell WHMID 2 eTeillwed B 6uTDay

QarLiurer fpsenar ————— eTarliu (b,
@f/g@g,nu_, BéaSlamTésid

(B) Gsélu gmmdlmentiiy

(C) Quamset wenGarppid

(D) swpsmw pob

(E) ehlen QgRweildvene

CCSAT/2022 66 B



16‘3-

» three articleg v Devliame "India to

restore State’s powgy ¢, make their own OBC lists are
A 334, 342A ang 366

(B) 338B, 341 and 363

©) 3383, 342A and 566

(D) 333, 341A and 362

(E) Answer not known

@51 Uil agllai Llguee wriensGa  sUTEED 2s1753
Bruspets QA BILm@ELeasda Qaram® euuulL sLL Smssh, ST
PEY ATEDOLLS Saps@ans SnsHug.

(&) 334, 342A wpgb 366
(B) 338B, 341 wpmb> 363
(C) 338B, 342A wpgb 366

,@{333, 341A pppb 362

(E) ofar Qpfweiidena
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163.

164.

In Automobile Service stations, the vehicles are lifted upW_'ﬂl"d using the
Hydraulic Lift, which works based on

(A)  Newton’s First law
(B) Newton’s Second law
(C) Pascal’s law

(D) All the above

(E) Answer not known

NGRS Lpg) Lnis@n Laloeaseisd arsarmasoar e wigs ahs eflfug
SligUuen_uleg Quinigd Bllwe 2 wigdlsdr LweTu@RssLILRHeDaT?

Ay BlugC L efleir Ped 69d)

(B) Bl L afler Qrem_mb 94
©)  unevsa ALY

(D) Guom e cgiemﬁvrg'g,ub

(B e Asfucioma

Which of the following Equation for force is incorrect?
(A) F=mxaq
(B) F=APxt

| ©) F- m(v—u)

¢
@) F-4F
(E) Answer not known

Epssnamib FLETLTHSE5ET a5 elmessTer FLDGHTLIMIG OENG) 2

(&) F=mxa
(B) F=APxt
w/F:m(v—u)

A
M) F=-"

(E) &fen Qsfluefcvency

68
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¢5. Choose the corveeq Staten oy

1t \ .

) The Pﬂ]:l\:‘;ﬂ- Cr e . ‘

0 Vakkarars SYstem wag in practice in the Kakatiya Kingdom.

i) Puli Thevay 4 |

U‘) i cantured Noy wal in 1764 after the death of
Khan Sahil, ed Nerkattumseval in 1764

(i) Yusuf Khan y,

: , A8 Negotiating with the Palayakkarars, without
mforming the 8 5 Wit

. “OMbany administration was charged with treachery
and hanged ip 1764 O

iv) Ondiveeran legq One of the army units of Kattabomman.

@A) (). () and (iv) aye corréct
(B) (). (1) and (ifi) are coppeet
(€) (i) and‘(iv) are correct
(D) @) and (iv) are corfect

(E) Answer not known

érﬂurrem fadoDS Caiey Qeinuan,
(@) ureausSTTT Yo snsssduc GLyfler pe_peopde Qniss.

(1) smer sndlnGen @DU@E@DQ&T yellsCoeuir Qpps M Ceeueme 1764-Gdd
Ber@ estiuhdlentr. .

) sv@ueall  Aransspss. — sswd  oefssmod LmeamLIGET i
Gusseumigmsuia. mhuL st wetster gGmd aam GHOD SOESILLE
1764@e grédledriu L.

(1v)fepairigeiyeim 65I;L@L_;HLDLDGUﬂ6i)'r ueLudflesefier garens soeamwCupm
ufiBLsSlarmi. '

B) (), i) wppid (v) gduma of
BY76), i) oppio (iii) efuma si-]
©) (ifi) wopw (v) ssuea &

D) @) wpmp (v) duma sl

(E) o Osfwelidme
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166. Assertion (A):  RBI controls the supply of money in the Economy,

Reason (R) : It wants to stabilize exchange rate and Conty,
J

inflation.

(A (A) is false, (R) is true

(B) (A) is true but (R) is false

(C) (A) is true, but (R) is not the correct explanation of (A)

(D) Both (A) and (R) are true, (R) is the correct explanation of (A)

(E) "Answer not known

sapm (A) : @rslu Meiel auiid Briiger QUTHETTST] L6 GUpBIGMaS
'.&Q@Uu@glgjﬁmg. | |
smyemd (R) : <pflw Asemeenf .ufﬂmﬁggmm dfssms Hleouubssan,
LaneSsasdmans sHLLESSD 69(HLLSDI. -

A) (A)sag; R) af

(B) (A) afl; yama (R) gaup . T
LGj/ (A) &f; <yemmer (R) aranug (A)afiparer sflwuner eflerésioda

(D) (A) wpmw (R) @ran®id &, (R) eararugl (A)edpasnen sflwren eferssorEL

(E) dflen. Opfuaidena
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168.

A worker was engageq for a certain number of days. But he remained
absent for some dayg a |

nd was paid Rs. 1,387. Had he worked all the
days, he would have earpeq Ry, 1.762. How many days did he work for?

@ 19 B) 21 <
(© 24 D) 29 v
(E) Answer not known Wy
| g4
g0t @0 SO Caumassms LesflWbASSLILILLTT. perTd

eger LAIMDEES T, Geuema Qsiig pris@sbanear safuions @. 1,387
QUEDTT. ST SiDesg Hrsalgin Gaume AsLdEHbsmd safuwns @. 1,752
Qupeuunt aeaflld e Ceuana Qewig Brisamars &Tas.

34
(A) 19 | | (B) 21 %
@r 2

\
24 D) 29 Q/\\\L’(o =
(E) eller Qzflwuefdana

| e X %

K &% Q@%/ o
A A\ A
If product of given three numbers is 1875 and their HCF is 5, then their
LCM is -

(A) 75

(B) 125

(C) 375

(D) 450

(E) Answer not known

QsrpssruiL  epary  aaseflan  Qumsspueer 1875  wHpId Siaub e

8.Qur.eu-5 eraflér seupBler L5.GuM.1 \ k¥
@ B 5 o
B) 125 - | . 4% @ |

5 375 ‘ %{/
D) 450 . | - b
(E) efer QsMwellcrene
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169.

170.

CCS4T/2022

{?
wality hefore law

ity of opportunity in

Which is in-correctly matc hed

(A)  Article 14 lq matters of public
(B)  Article 17 [qu
employment
Right to elementary education

() Article 2 1(A) f
D) Article 26 B 1 to manage religious affairs

(E) Answer not known

Freedor

sanrs Qurmpdujerergl el ?
— gL gdler (peit oe@manal(Ho FLOLD

A @rdwe ewuy Kile) 14
- Qurg CauenealMuLIL&eTa FOITLLY

M/em‘ﬂum} ey Yiley 17
C) <rdwe @;mmuq Gfley ZI(A) = Glgrrl_aaai s QLJQJJLD o fleno

D) erflue ey Gfley 26 - soU mﬁlw&rrqma;wm ;Eln@ueﬂ&@m o Menio

(E) &er Qsflwelcrene

The Directive Principles of State Policy of Indian Constitution resembles

(A) Magna Carta, 1215

(B) Charter Act, 1813

(C) Instrument of Instructions, 1935
(D) Regulating Act, 1773

(E) Answer not known

@rdu Al sTEaSSlE GU%Q]&FFL@ QBHpemmeET .
Camhmid eflliuemeuwm@Lb. i .

Guma

(A) wnserm grgabd, 1215

(B) wurLwé siib, 1813

©r sfamsse Qeupsme, 1935
D) gurEuEsE DL s L b, 1773
(E) eflenr Osflwelereney

2 . s




Christianity was

first y, »r o an apostle of
g7l christ In the Firgt Centulli;ujflg 8
&) Sa%nt Peter (B) Saint John
©) Saint Matthey (D) Saint Thomas
(B) Answer not kngy,,

& mg i phlwuneled @Cwaeien Firear
" TS Qg e ® g%&;@ o
i ®) usfp g
€) uafls Gogy, (DY uafls smoed
(B) e Gsflueicena

Arrange.the following languages in the chronological order with regard
to their year of being granted the classical language status

1. Sanskrit =

9.  Telugu

3. Malayalam

4. Tamil

@) 23,41 (B) 3,1,4,2

©) 4,2,3,1 D) 4,1,2, 3

(E) -Answer not known

%gpése;ssu'zrm_ G\Lnrfg&la;a.ﬁm Qen@umfl seduCupp en@sefer SigiuamL e
aflansiu(h&s)5. . :
1. swadmsn

2. Qseum@

3. evewmerd _ . &

4, gLﬁlg@ ' -

A) 2,341 < (B) 81,42

(E) efenr Qg fweidoama

R 4,2,31 | Bri1,2,3-

73 CCS4T/2022

- [Turn over



173. Arrange the districts in descending order of having forest cover

@)

Dharmapuri

(11) Erode

(11) Vellore

(1v) Coimbatore

(A)
(B)
(©)
(D)
(E)

(), (i), (i), (iv)
@), (v), (), (iii)
@v), (@), @), (ii1)
1), (v), (i1), (1ii)

Answer not known

LDTEUL_L_BISenaT, S Em6U Qaramerer s sefler

@nrigeflansuier erapgis.

@ siouf

(1) ~Crr(

(i) Cougr

(iv) CarwbggT

(A)

@), (), (i), @v)

B (i), (v), (), (i)

(C)
(D)
(E)

CEB4T/2022

(iv), (1), (i1), (ii1)
(1), (1v), (11), (111)
aflenL Qg Mweiidena
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vrange the followine ' bl
55 Wing in chronological order with respect to their

Chief Mimistership j, : :
P Madyppg Presliinoy
. PT. Rajan

2. A\ Subburayuly Ruddiul.

. I\-11111113:1|115_, Naidy

1 C. Rajuji

-
-

5. . Subbarayan
A 2.4,3,5,1
B 2.5,3,1,4 :
©€) 53,1,24
D 31,524

(E) Answer not known

sroaflenstiug. wsyme mn&nmﬁ@@ WPHVMLDFF T 6T aflestiu(sss.
1. Qg grgen |

2. g suymmye Qrlgwm

q. GD@_[&F[TLQ B

8. greymad) |

9. sUupTwedr

=t o

A) 2,4,3,5,1
@ 2,53,1,4
C) 65.8.1,2 4
Dy 3,186,824

(E) efeni QsMweieene

: 0 ~ CCS4T/2022
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re true?

=4 A . )
175. Which of the following statements
gnetic separation process

(1) Zinc blende is concentrated by ma
aration process

(1) Haematite is concentrated by gravity sep
(ii1) Aluminium is produced by the electrolytic reduction of fu,

alumina
(1v) Matte is a mixture of cupric sulphide and ferrous sulphide

(A) () and (i)

(B) (1) and (iv)

(C) (1) and (i11)

(D) @) and (iv)

(E) Answer not known

Spssm_aupmer sALTET sadHISET Taal?

() Ams verer smpst WAL pepudd L m9660UEHDE.

(ii) CGamwerr Lt yeuiiiy pempuiled DL ssLLESEHDS

(iil) o mdwu igflamae WBleremd UGHY weopuid @O&E - gla
Quopuu®Eng '

(iv) Gl g ©Ufls soeulb WLOHDID Quirgev Fo@u@E pHwuaHl

&eVEn UL TGLD
(A) (@) wogw (11)
(B) (1) wpgud (iv)
Kf (ii) womb (iii)
(D) (1) wpmb (1v)

(E) ahlent (g fluselléremen
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which of the followiy, . . e
) £ wag y i ai S asan?
) Sakya Buddhig s s founded by Rettaimalai Srinivas

: Docioet,
(B) Ad\f:-lld."ln:llld:l th]“: ¥

(_C) ig'lll;qm. Depressed Olagses Association

(D) Adi Dravida Mahajana Sabha

(B)  Answer not known,

G QUOAIRTUDDIET 611 e @ e ivene Eafleumgatned Feurism L )7
(A sgné&w Qum’&,g SIS

(B) tqﬁ,mmg,nmﬁag, Sum

k?'r <idleo @bdw ROSSLULCLmir FrisLD

D) <8 SHore DETDET FénL

(E) ellen Qzfweldenqy

-7. Match the following :

Indus Sites Excavated by
(a) Chanhu-Daro 1. Suraj Bhan
(b) Lothal 2. N.G. Majumdar
(c) Banavali 3. S.R.Rao
(d) Mitathal 4. Bisht

@ ® @© @
A 2 1 4 3
® 2 3 4 1
C) 1 3.. -2 . 4
M 1 4 3 2
(E) Answer not known
AuIBsgis :

Sibg) sQalefl paTESE SSLPeUTTTUES W
(@) eearam®-grGrym 1. @&rg umar
b) Carssd - 2. eren.g. wgebsTT
(c) uarmeuef 3. erev.gyir. gmeu
(d) BAcimsa, 4, Qe
P

2 1 4 3
® 2 3 4 1
©) 1 3 g - «4
™1 4 3 2
(E) . eflen QaMwaiicbena
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178, Arvrange the following plans in Chronological order.
(1) Gandhian Plan
(1) Bombay Plan
(1) Jawaharlal Nehru Plan

(V) Vishveshwarya Plan

A) (D). (1), (i), (iv)

(B) (@), (i), (i), (1)

©) @), G, Gv), (i)

D) @1, (), (Gv), (ii)

(E) Answer not known -
Shssam S hismer &r@wp@DLILLY auflasiu@ss)s.
1)  smpAus Ao

(i) LrbGU S Lb >

(1) geuamievred Crp S Lib
(1v) eflevCeugeumiiwm UL ib
(A) (), (1), (111), (1v)
&5 (), (i), (i), ()

(C) (1), (1), (iv), (i1i)

(D) (i), (1), (iv), (iii)

(Vo) ahlosn Glaiusehldbancy
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179.

Two dice are rolleq to

m of faces as 4 8ether find the probability of getting a doublet or
s

1/9
E?; 419 B) 319

(D) 2/9
(E) Answer not known

(B) 3/9
(D) 2/9

(E) el QsNwelmang

. Kala and Vani are friends. Kala says, “Today is my birthday” and she

asks Vani, “When will you celebrate your birthday?” Vani replies, “Today

is Monday and I celebrated my birthday 75 days ago”. Find the day when
Vani celebrated her birthday?

(A) Tuesday
(B) Wednesday
(C) Thursday
(D) Friday

(E) Answer not known

EQT WHmIDd eurenil @ eI BaETUTEdT. ‘@6t erarg GPHS BrET aen sem
salarmer. cumenfllflid “e arg Gpis Brevar eriGurg § Qasrar_rReur?” erand
Coi_Lmer. 25H& eurenfl “@erm sl fpaw, bren arengyieL w 9pHs mrever
75 prisEssE e Qamem_mgCGarer” erar Lfwefsgmer. curanflule B HreT
THsé Slpenudledr b mEGD TS STES.

(A) Qseueumis Hpanwo
ysen &lpento

(C)  eflwmper Siperwo

D)  Qeueraf &lipanio

(E)  aferr Ogflueioama

79 CCS4T/2022
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181. There is 60% increase in an amount in 6 years at simple Interegt
Then the compound interest of £12,000 after 3 years at the same rate ig

(A) 2,160 (B) 3,120

(C) 3,972 (D) 6,240

(E) Answer not known

o GAVACL sisd el dssdo 6 aan@sdio 6o SBsNsHDE. oG,
aly dssdad T 12,000-6@ 3 andseis daoLseb amb Ly

0@ (A) | ¥ 2,160 (B) 2 3.’120
‘5 @) ©3,972 | (D) 26,240
& 0

\\0‘? (E) oo QsfMweldrena

182. The population of a village increases at the rate of 7% every year. If the

present population is 90,000. The population after two years 18

(A) 96,300 | E

(B) 1,03,000 | - ¥

(C) 1,00,000

(D) 1,083,041

(E) Answernot known

e Armosdar &6 CsTME  HETCLTENIES 7% eisbd é{g‘,]a;rﬂésé]pg:.;
@uAumryg weser Qsres 90,000 aafld 2 arOsEbSEH G &Hgrosdlar
&&eT OFmams
(A) 96,300 -' 094;% | & %
(B) 1,03,000 :gy/;“j _ "\UZ:(/?? |
(C) 1,00,000 w/ %
@1 1,03,041 - -

(E) eflenr Qzflweiichane
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183 Extra copy of Chl”OmOSOme 21 r(\fsu]tv. in

A) Sickle cell anaemig
(©) Kline Feltey Syndrome (D) Thalassemia
(E) Answer not known

(B) Down syndrome

@@UWGLD!TGSITLD 21~@6'1) NG ‘[5855'0' T Opns @ m i iseme gHUHeug)

(A =fleurer @Uﬁ.@ Ceneng (B)/I—GLIG'” e _Grmibd

C) seeans@ue flem Gy (D) se&lwmr
(E) e Gsfwueldhena |

184. Which of the following 1s correctly paired?

(1) Pattadakkal —  Chalukyas of Vatapi
(2) Elephanta Caves —  Ashoka
(3) Ellora Caves —  Rashtrakutas
- 4) Mamallapuram - = Narasimha Varmai
(A) 1,3, 4are correct B) 2, 3, 4 are correct
(O 4-, 3, 2 are correct | D) 4,1, 2 are correct

(E). Answer not known

sflwmesr @@GUBTGDIUJ‘&'; Csirey Qauis.

(D) wl s —  arsnd sr@psdwr
2) aQuarrLm Gamaser — <AGensit
(3) GTG'DCEGDrrr]rrr @a)ﬁasm —  T6ilg TSl TEHET
mrrmmsuqum s ek (PSTLD gqﬁmesuerbsaT
,(Aj/ 1,34 5rﬂlunsn"r§| | B) 2,3, 4 sflunang
(C) 4,3, 2 sAwnang - D) 41,2 &l‘ﬂu_lrrémg;;-

(E) oL asfuaidoe

| | 81 CCS4T/2022
| e ' ' ~+ [Turn over.




(a)
(b)
(©)
(d)

V)
(B)
(©)
D)
(E)

Product

Turmeric

Mat

Painting

Sungudi

@ ® @ @
1 2 3 4
2 3 4 1
1 3 2 4
2 1 4 3
Answer not known

1
2
3.
4

- Match the Geographical Indiation Tag (GI tag) product with its Place .

Place
Madurai
Erode
Pattamadai

Thanjavur

yelleri gduSE (GI tag) QurLsmer oigar @)L s e Gumhsss.

(a)
(b)
(©
(d)

(A)

Qu m(H&
u;@.&s'n

Lmu

uamTamTLILLES: (@ailuilb)

ST
@ (b ()
1 2 3

Qyz 3 4

(C)

] 3 2

(D) 2 1 4
(E)  efler OgMucianss

CCS4T/2022

(d)

B o b

C @Lo

gy
FGrmr @)
USSLOanL_

'g@&ngbr’r
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187.

. = 1810t a part of the Tamilnadu’s First Multi-Modal Logistics

Park.

(A Chennai Port Authority

(B) Tamilnadu Industrial Development Corporation
(C) National Highways Logistics Management Limited

(D) Chennai Metropolitan Developmental Authority

(E) Answer not known

sUDBTL T pseTag) uepemerud #rs@l CUISEGISEIL Lhismelld
s@wulpEs Qsminy @Qoeme.

(A) Qserevans sioppss S _

(B) s8bpr® Qsmfler eueriéd Hyeuens

() Gpayarer manGaus wgavised GuCergGwer @I
JD‘)/QEGBTSU)GBT QuBBST eueTi&dls @ Qwib.

(E) eflen QzsMweldvena

The Winner of “Jnanpith award” for the year 2021 was
(A) Damodar Mauzé (B) Krishna Sobti
(C) Amitav Ghosh - (D) Nilmani Phookan
(E) Answer not known

2021 b e pamen “@rani ellhas” Ceuameur wimrr?

(A)  srCwngi QueGer (B) Smeigemm Comid)
®f sufises oy (D) fowafll Lsaen

(B)  ehen QpMweidae

83 CCS4T/2022
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188. The gas present in the pores of soft finely stratified sedimentary rock i,
(A)  Shale gas (B) Gobar gas
(C) Water gas (D) Oxygen gas

()  Answer not known

Qua@buner a@rLd® LTep DG E@seen gienansafler 2 arem cumuyedeyn Quy,
ereiten ?

A Cagdd cumy (B) Camuir eumy

©) B eumy (D) <ypsflmerr cumy

(E) e9erL Qsfwelcranay

189. Match the class of compound with it functional group
Functional group

Compound
(@) Alcohol 1. -COOH
(b) Aldehyde 2. -OH
(c) Ketone 3. —~CHO
(d) Carboxylic acid 4 (ﬁ
o Y

@ ® @© @
A 2 1 3 4
B 2 3 ~1 4
) 3 2 4 1
D) 2° 3 4 |
(E) Answer not known
sal_ B Qurpeer sigen ellevaru® QsTESHyLar @ enemr

Fal_ (HLGQummerT Aearu® CsTEs
(a) =posanme 1. —-COOH
(b) ouman® 2. -OH
(c) & GiLmer 3. —-CHO
(d) sriruréedleds =labd _ i Cl)l
i

(2) ®) (0 (d)
(A) 2 1 -3
By 2 3 1
C) 3 2 4
(D) 2 3 4
(E) eflen Gpflwaidvema

=R A
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0 [dentify the wrong state

p) Shivaji's Guarg; ment from the following.
( c uar lan W . . ;
®) The coronation as Dadaji Kondadev

Rajgosh £s vaji was celebrated with great splendour at
(C) Shivaji’s soldierg Pty Bisrat 4 605
0 In 1674, Shivafi crowras g

. owned hi assuming the title of
“Chatrapaty” ned himself by uming |

(B) Answer not knowp
g@&éﬁﬁﬁm—@@@]m 5“!13&55[ Sapenmé s

() HeurgduQen UNgI&meueir Bame Qanam_Gae

‘ky{ feumsd TrERGames Cam’_en_ Q¢ @& QamerLmi
(C) SAergduler L oSy @5

: 8 16656 @ennuig et
D) 1674-Qa sgrug eI Quuwife Gt

(ClT G
(E) oo QsfNweeranq,

" 191. Choose the correct statements :

1. Bharathi edited a Tamil weekly

_ ‘India’. Which became the voice of
the moderates

. Bharathi participated the Surat session of congress in 1907
3. Chakravartini,

Swadesamitran
Bharathi

Newspapers was edited by
4. G. Subramaniya Iyer Published newspaper The Hindu
(A) 1and 2 only correct (B) 1, 2 and 3 only correct
(C) 2 and 3only correct

(D) 2, 3 and 4 only correct
(E) Answer not known '
sflwres &DQJSSEGRQT@S s@TLMs.
L unpfller ‘@pdur’ ey @sp Wisauns Csfluandsefian sranss Hapsss.
9. 1907-Qe @ré smbdjen LT o uryd sebs G smam .

8. sajauisfell, sCssfsran Gureny usdiossaie umd uenflwmhd e,
4 8§ Qig usdHisosou Qaeflliliar G. stmwefu gui.
A) 1 whmd 2 wLH &
©) 2 whmyn 3wl &l
(E) e Asfuaiome

B) 1,2 vpmn 3 wr Guw &
SB7 2,3 uppib 4 Qo &

85 CCS4T/2022
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192, Which of the following statement 1s/are correct about the NITI Ayog)
uch o . |

L. Al Chiel Ministers of St:l-tt;rs‘ excel?t Union Territories Wiy
legislature ave part of Governing Council |

IT. The Prime Minister of India is the Chairperson of the NITI Ayog.

II. Finance Minister of India acts as Vice Chairman

(A)  Only II and III
(B) Only II
(C) OnlylI
(D) OnlyIandII

(E) Answer not known

D spmiseten Hé <Cuiné updlw eTpss ampm sflwmerg ?
I eoass ovriw @g,sbsufra;@llla. gl et Gemer ywefluier ﬂu@gsmsq’l
sy <y @pd Gaildr s euflsdampani. ‘

II. @sdwirQrswt ‘B HCunsder BT g eumit

III. @sdus HAwewsst gomen smaerTs Qewdu@Ammrr.

(A) 1T wpmin IIT o0 @b

m IT e @b
(C) IwcEwb
D) T wpmw II weEw

(E). eflani Grpfluaicena
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194.

B

Find the missing number -

._)QI-
(A) 4& (B) 256

(D) 324

) 289
(E)  Answer not known

SPputL «Tiﬂrmms SN H g

W \

49. 121, 169, ?, 361
A 225 |

(B) 256
@ 289

(D) 324
(E) e Qgfweldene

X
\0\

N

N\

Find the area of a rectds

gle one of whose sides is 5 cm and
‘diagonal 13 cm.

(A) 74 cm?

(B) 96 cm?

(C) 60 cm?

(D) 56 cm?

(E) Answer not known |

&m Q&d.tms;gﬁs'm Q@H LU&SD 5 Q&.8. wHgyb 2igern paeedlLb 13 Gs.8. eaafleo,
Qscucuagden LY STETE.

(A) 74 Qs.8.7

@ 96 G55 5\/\/j
(C) 60 Qs.8.°

(D) 56 Gs.8."
(E)  efilem Q;gﬁ\umﬁlebwm

87 CCS4T/2022

[Turn over



. " A 0
195. A farmer borrowed Rs. 20,000 from a money lender at 4.5% Per ap |
: . If
in simple interest. The amount. paid by him to clear the loan aftq,
period of b years is '

(A 2 4.500 (B) 715,500
() T 17.000 (D) 724,500

() Answer not known

B0 elosmd T 20,000-g eyen@renpie 4.5% safl e gude RO,
Sams Qupidpri. ghsl BIESEEGL et Sjauir Peugid sLenar c%lanq:
Q&@Jﬁ@ Geuamigw Qgnens - Vv*

oS O e
@) ¥ 4,500 (B) 215,500 Yisom \**

: .
(€) =17,000 Y8 2 24,500 3/“1/ -

(E) aQei Ggfweldane

196. The difference between the simple interest received from two differelﬁ
sources on 21500 for 3 years is ¥13.50. The difference between their ratJ
of interest is

A 0.1%

B) 0.2%

©) 0.3%

(D) 0.4%

(E) Answer not known

¥ 1,500-6@ 3 gyampaaio @m QesciCouy @ rusafles G)mis) g5 gGUﬂG).II:_Lq.sEGTﬂdT!
cfiggwneb T 13.50 erafler aur i cligmiseflan efgdwimeid
(A) 0.1%
(B) 0.2%
.46)/33%
(D) 0.4%
(E) eflen QzMweilcrenay
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197. Match the follnwing :

(a) Varahamihira

(b) Kalidasa

(¢) Amarasimha

(d) Dhanvantri

(a)
A 4
(B) 4
€ 4
D) 3

3
2
-3
1

(c)

N = =

1

3.

(d)

(E) Answer not known

QuT(hSSIs.

(a) agrsOdi

(b) sreflgrei

() iwrdlbenr

(d) geraupdil

(a (b
A 4 3
B 4 2
w4 3
M) 3 4

(E) sfer QpMweddema

(©

N =

1

p—t

Physician
Lexicographer
Sanskrit Poet

Astronomer

LD ([BSGIeut

SisrmSlulwe g ANwr

FLOGVE (S L,]Gﬁanr_

cureflwed i esr
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198. Which among the following js/are wrong!

Political Rights include

(1) Right to vote

(2) Right to hold public office

(3) Not to criticise the government
(A) (1) and (2)

(B) (1) and (3)

(C) (2) and (3)

(D) (3) only
(E) Answer not known

SipéaaiL amposetd a5/ cTmal SUDTES ?

<flwe 2 Mapwser o ererL SElwsl.

(1) surré;mﬂés@m g fenld

(2) <rsn umﬂ&mﬂé‘ uga s_u.ﬁé;@fn o fleno
(3) ‘@iyas dwifléss snlng)

A) (1) wppw (2)

(B) (1) wppd (3)

(©) (@) wppd @)

ﬁ )B((S) L (HLD

(E) afler Qpfludidma
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199. When was the fiygt, Nation

200.

(A) 1964
(C) 1968

(E) Answer not, known
ws® CsAW said

& 1964
© 1968

() e CgMNwedang

Assertion (A) :

Reason (R)

al Education Policy formed?
B) 1916
(D) 1986

BeT@es 6riGuing » (HOUTEBLILIL L8 7

(B) 1946
(D) 1986

According to Health and Family Welfare policy note
2021-2022, the state government has effectivply
responded to the challenges of Covid-19 without losing
focus on maternal and child care, health initiatives and
services and other communicatable diseases and
Non-communicatable diseases. :

The doctor to patient ratio in Tamilnadu is one of the
highest in India. '

(A) (A) is true, (R) is false

(B) Both (A) and (R) are true, (R) isthe correct explanation of (A)
(C) (A) is false (R) is true I

(D) Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(E) Answer not known |

adluypsse (A) :

sryenrd (R) :

FETHTID . LHYID  GHLU s Gardass @oiloy 2021-
2022-@er Lg Gamefl Qsmhm saumedla Gung Blps A&
Wlseyd. HApriuns  sers HEUATEDS ST LoHmILDd SPh@s
ugmofuy &&memy pwhlsdr womib Csee wHmd G -Qg,n;m@
Crmisar wpmid Gsmhmrs Crmisefler HpwbLi Geamauwnpilus,.
Qigwmeile) HSHI6MHESLD, Crmuraflé s wmen g e
gl 2 ereraupHld SBPETHL Qe

(A)  (A) 2awand (R) sougy

B (&) wpgid (R) Gran@i> 2-aren (R) arérg (A)-Ger sfiunen sdersan

© (&) goup (B) e.ctvens

D) (A) gm,@itb'(R) Qe 2w, gamed (R) aramugl (A)-@er sflwire
OT&ESLD <BIGOEV. : _

(E) eflenL Qg Mweildama
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